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1. BEFTHIA
O |SEIA 15,000,000 16,240,000 -1,240,000
Q@ ZJHERA
- AMBE BURA 1,000,000 206,255 793,745
-REZRTINA 200,000 1,300 198,700
-AERRZFENRA 26,000,000 143,756,262 | —117,756,262
REIRA 0 0 0
@ WHELSWA 200,000 1,130,000 -930,000
@ f#HBEIEIRA 0 0 0
® XA 0
-ZEFIR 30,000 29,470 530
- HEURA 20,000 523,708 -503,708
FEFEUAG(A) 42,450,000 161,886,995 | 119,436,995
2. BEFEYPXH
DEBEEXH
- 1% B RN 7,360,000 7,360,000 0
-HAHFS 5,000,000 4,605,486 394514
RIS 0 0 0
EHELEE 1,700,000 1,722,922 -22922
‘R 400,000 686,689 -286,689
-REXBE 600,000 591,200 8,800
-REEME 1,300,000 968,283 331,717
rERERE 0 0 0
CHERE 900,000 466,906 433,094
-BEfEE 2,800,000 2,758,140 41,860
SEKE - HRE 700,000 633,568 66,432
-FEFR AR 1,000,000 89,100 910,900
HE 1,053,204 750,064 303,140
- 3=F- 3,400,000 3,360,000 40,000
QFFEXH
‘R 1,000,000 681,156 318,844
"REXBE 1,000,000 105,398 894,602
EERE 5,400,000 3,690,776 1,709,224
-BEREBEEE 200,000 0 200,000
REMRE 5,000,000 5,559,744 -559,744
- ENRIE 2,500,000 2,387,465 112,535
-REMREERRE 20,000,000 126,204,537 | -106,204,537
- AMBREE 2,600,000 666,975 1,933,025
-REZRTE 200,000 0 200,000
FREBEZHE (B) 64,113,204 163,288,409 | -99,175,205
FREPRZEENW - B =(C) ~21,663,204 ~1401,414 | ~20,261,790
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1. |EIFEUA
O EEERARIRA
B 31 4TER AR A 0 0 0
-ERMERTEEEIAARA 0 4,000,000 |  -4,000,000
Q#&-RIAERYIRA
HERYILA 0 0 0
REFEIA (D) 0 4,000,000 -4,000,000
2. wEFHXH
O EEEREXZH
SRS SIS TAEE XM 700,000 587,200 112,800
"ERMERFEEIM 0 24,882 -24,882
QEEEEIMSRZH 0
-BEEEEFRLEIH 300,000 379,000 ~79,000
REFFH (B) 1,000,000 991,082 8,918
REFEINZELE (D) — (E) =(F) ~1,000,000 3,008,918 |  -4,008,918
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1. BAFSIEEIRA
D AEUXA 0 0 0
-EHEARIRA
BIEEIIRAET(G) 0 0 0
2. BHSEIX
B FSEE AT (H) 0 0 0
BRI EZE(G) — (H) =) 0 0 0
NV FiHE&EXH
- FIREW 1,800,000 0 1,800,000
FlnE X HiET (K) 1,800,000 0| -1,800,000
4 H U X E B (C) + (F)+ (1) +(K) ~24.463,204 1607504 | -26,070,708
BO# OB 8 R X E # OO 24,463,204 24,463,204 0
X B O®B & B X = # 0 26,070,708 | -26,070,708
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